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ANNUAL EXAMINATION, 2013
Class - Xl
Subject - MATHEMATICS

Time : 3 hrs. M. M.: 100
General Instructions :

1. All questions are compulsory.

2. all questions in Section A are to be answered in one Word or
one sentence and each question carries one mark. ;

In Section B each question carries 4 marks.
4.  in Section-C-each-question carries 6 - marks.

SECTION - A

1. Evaluate sin 130%c0s110° + cos 130° sin 110°

. : : : Al By
2. L/Fmd the inverse of functions : x= 2y-7

i ne 1 25
Waluate [' +[T] }
4. \What the length of latus rectum of the ellipse 16x° + y2 =16

5. L)‘et A =1{1, 2, 3, 4, 5}. Define a relation R from A to A by
R={(xy):y=x+3}

6. If fic,="c, find Ry

7. If tanx = tany then x = ?

o
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8. Find the sum of infinite G.P. 1, %g .............

§ What is the probability that a letter choosen at random from word
~_~ 'Equations . is a consonant’?

10. IfU={1,2, 3 4, 9,0, ¢ 8 9 A=¢11 2 3 4}

B =1{2, 4,6, 8 Find (A - B

SECTION - B

11. A market research group conducted a survey of 1000 consumers
and reported that 720 consumers like product A and 450
consumers like product B. What is the leastnumber that must
like both products.

13( Find the generai solution of the equation: sin36 + 'cosZe =0
& _

e __Emvathat sin3x + sm2; — Sinx = 4sinX COS— cosg—

s e
13. State and prove siné formula.

14. If pth, qth and rth.terms of an "A.P. are a, b, c, respectively.
5 Show that :

(Q-rjasr=p)o+(p-qc=0 -

; OR
The'sum of first three terms of a G.P. is % and-their product
is 1. Find the common ration and the terms.

15. In how many ways can the letters of the word "Assassination"’
be arranged so that all the S's are together? |

16. 'Fmd the equation of the circle passing through the pomts (=3,
4) (-2, 0) and (1, 5). Find the co-ordinates of the centre and

radius of this circle. .
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1Z—1fA and B be the points (3, 4, S)and (-1, 3, - 7) respectively.
Find the equation of the set of points P such that
PA® + PB? = 2k2, k is a constant.

18. Find the square root of 5 — 12

19 Prove that 12,+ e g n° > %‘v’n eN

<30 Find the domain and range of ‘the function f'defined by
1

f(x) =
(x) s

21- Write the negative of the following statement

(i)  All triangles are not equilateral triangles
(i) Every natural number is an integer

(iii) There does not exist 3 quadrilateral which has all its sides
equal.

A student.will pass.the final €xamination in
both English and Hindi is 0.5 and the probability of passing
neither is 0.1. If the probability of passing the English exam. is
0.75. What is probability of passing the Hindi Exam.

SECTION - C
2 : ; li )(4 - 81
23 (D/Evaluate Xin3m
(i) < Find the derivative from first principle of f(x) = sinvx+ 1

o

24. Find the mean, variance and standard deviation

iah
?:sgt 70-75 75«8_0’80:85 85_—90190—'95495—100I100—_105 105-110 | 110-115 |
No. of ;
3 4 7 7 1
Children J J 2 ‘ 2 ( y e 3

29. Find the expansion of (3x2 _ 2ax + 3a2)® using binomial theorem.
OR
\
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Show that : g _g,_g is divisible by 64.

R 2l nx(n+1? 3n+5
26. Showthat: o > o . N x(n+1)  3n+1

27. (i) +Prove that : 0082X+cosz(%+xj+cos2(x—-§);%

A-B

L tan

a+b tan'&";‘B

(i) In AABC prove that :

28. Solve the following system of inequalities graphically

3x+2y§_150
X +4y <80
x<16 x>0 y=0

29 (i} —A #ine is such-that'its fegment betwesn the lines
5x —y +4 =0, 3x + 4y — 4 =Q is bisected at the point
(1, 5). Obtain its equation.

(i) Find the points to which the origin should be shifted after
shifting the origin so that the equation x* — 12x + 4 = 0 will
“have no first degree term.
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